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01) The logic behind 'NOR' gate is that it gives
1) low output when both the inputs are low.
2) high output when both the inputs are low.
3) high output when both the inputs are high.
4) none of these.

02) A wheel having moment of inertia 2kg-m?
about its vertical axis, rotates at the rate of 60 rpm
about this axis. The torque which can stop the
wheel's rotation in one minute would be

}—N m )AN m
18 15

3) N-m 4 N-m
12 15

03) The de-Broglie wavelength of an electron
having 80eV of energy is nearly (leV =1.6 x 10-19J,
Mass of electron = 9 x 103! kg and Plank's
constant = 6.6 x 10-3* J-s)
1)0.14 A

2)1.4 A

3)14 A

4) 140 A

04) For the series LCR circuit shown in the ﬂ%; :

what is the resonance frequency and the ampli
of the current at the resonating frequency?

220V

1) 25rad-s™! and 5J2 A

5
and —= A
V2

3) 2500 rad-s™! and
4) 2500 rad-s! and 542 .

2) 2500 rad -s™!

05) Five capac1torm IOpF capacity each are

connected to a d potentlal of 100 volts as shown
in the following e. The equivalent capacitance
between the points A and B will be equal to

10;&\/-[-\, 10pF
A 10i>—B
1mf’<1;*mm=

100V
1) 10puF
3) 30uF

2) 20uF
4) 40uF

06) One mole of ideal mono- ator%g gas (y=5/3) is
mixed with one mole of d&ato c gas (y=7/5).

what is yfor the mixture?%y denotes the ratio of
pressure, to that at

specific heat at consta
constant volume.

1) 3/2 ) 4/3

3) 23/15 5/23
07) The angle of.pc -' isation for any medium is
60°, what will ritical angle for this?
a1
1) sin! —= 2) cos™ '3
) 5 )

3) tan"! /3 4) sin"' /3
08) I ing an alloy, a substance of specific

gravit@ and mass m; is mixed with another
ance of spec1fic gravity s2 and mass mpy; then

2) {m1+ m, J
§;+ 8y

[EJr mz]
S S
4) o B P4

09) Temperature above which a ferromagnetic
substance becomes paramagnetic is called

1) Curie temperature.

2) Debye's temperature.

3) Boyle's temperature.

4) Critical temperature.

10) The current in a simple series circuit is 5.0
amp. When an additional resistance of 2.0 ohms is
inserted, the current drops to 4.0 amp. The original
resistance of the circuit in ohms was

1) 1.25 2)8

3) 10 4) 20

11) Statement 1 : Two bodies of masses M and m
(M >m) are allowed to fall from the same height. If
the air resistance for each be the same, then both
the bodies will reach the earth simultaneously.
Statement 2 : Acceleration of both the bodies will
be same for same air resistance.

1) Both statement 1 and statement 2 are true and
the statement 2 is the correct explanation of the
statement 1.

2) Both statement 1 and statement 2 are true but
statement 2 is not the correct explanation of the
statement 1.

3) Statement 1 is true but statement 2 is false.

4) The statement 1 and statement 2 both are false.







